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far STwem /The question paper is in the form of test booklet. All candidates will
be assessed on identical questions.
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aur et Y HiT & /A separate OMR answer sheet with carbon impression is
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is provided to all candidates for answering. The carbon impression of the OMR
sheet will be detached and handed over to candidate by the invigilator.

. & TEISS U UF Ue Ul / HYaT WedAr F Wiy Rv smeen, st @Ry e

BFeq (F), (@), (M), 41 (F) @9 ghrl 3% F oF & e FE gem / Each
objective question is provided with a text and/or figures wherever applicable
with multiple answer choices (a), (b), (c) and (d). Only one of them is correct.

. AR ofie W RE 7T el # o F 981 9 SeR B RgfAa s qur
f@a ¥ ¥aa A sy F@ afq dife FaA F & AT F / Read the

“instructions on the OMR sheet carefully. Use only Blue or Black Ball Point Pen

for writing on OMR sheet and marking your answers.

Wt FEgeEs TER F WAl & W@ o) G AW TEH HF g

AT Ikt F AT FE AFRHA® HhaA 81 & / All objective type questions
carry equal marks of ONE for a correct answer. There is no negative marking for
wrong answers.

. U YA 3q R 3T &R W 3N e IR @ A e

Multiple answers for a question will be regarded as a wrong answer.

.mwaﬁwwm%ggmﬁmwﬂwwmﬂmwm?l

s ¥ P15 oY ofie 3uyerew adt FUE Smesdy / Space available in the booklet
could be used for rough work, if required. No separate sheet will be provided.

.m'mama:magaamﬁwwma,mwaqﬁmﬁﬂﬁtaﬁl

T 3T N & FT GFQ § a7 a1g H HfdaA weA g« HY / Do not waste time
on questions, which are too difficult for you. You can go on to other questions
and come back to the difficult ones later.

qhEm ¥ wuw B & oRW AR @ ohen @w o # sl ad §

Candidates are not permitted to leave the examination hall during the first hour
.of the examination.

W*maﬁwmnﬂamgﬁ@anﬂm%ﬁaﬁwwm
INTAHR ek YeadT siedhters F wia § aur Bl off grenmer & sroweff oo amew
& FT¢ / At the end of the test (1) Hall Ticket(s) with photograph pasted on it

and (2) OMR Answer Sheet shall be returned to the invigilator and shall not be
carried by the candidate under any circumstances.
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MATHEMATICS - SET A

AT # ¥ 9 @ v TS aRdRE §ET I ARaT a8 ¥

Which of the following function is discontinuous at every real number

A. WEH 3T qUITHBST Greatest integer function
B. SRAT Wl Derichelet function

C. a‘gm Polynomial function
D. El-ﬂ? H’é’f None

fx)=|x—-1l+|x—2 |forx € R then f is

A. BrlRReEd Hﬁ' Not differentiable at x = 1,2
B. BPRRTT -'-Iﬁ th differentiable atx = 1,—2
c. BrRReEw Frgﬁ Not differentiable at x = —1,2
D. BrRRATw % Is differentiable at x = 1,2

: 1,1 1 1
llmn_,oo[l—5+§—z+...+(_1)n 1;]=

A.log 2 B.—log?2 C.0 D.None
A T FAT A f(x) = 1+"|x| & eagrg
The function f(x) = 1+x|x| is .

A.R—{0} ¥ f BIRRATTAEE [ is not differentiable on R — {0}

B. R—{0} ¥ f BwIRAaer & f is differentiable on R — {0}
Cx=0 ﬁ"ff Beifee % f is differentiableatx = 0
D. Eﬂg Fl'ﬁ None

5. e*cosx FT RTAR 4a1T
The expansion of e*cosx

3 4
A 14+x+ZE B
3! 4!
3 4
B 1+x—2 24
3! 4!
3 4
3! 4!
3 4
p. —1-x-2 42 4
3! 4!
2
fx[x]dx=
0
A. 0 B. c.2 D. 2
3 2 3




IR p T HATST WEHT, o 0F Ui §&a1 iR ptadl

Let p be a prime number (AT HEAT) and a is an integer (tI;Uﬁﬂ'T WEAT) with

p t a then

A. a? = 1(mod p) B. a? = a?*(mod p)
~C. a? = 0(mod p) D. a?! = 1(mod p)

19 HTgel 141 FT JelcT F4T 91
The inverse of 19 modulo 141 is

A. 50 B.51 C. 54

mmﬂrmaﬁrww%?

The smallest non-abelian group of order is

A 6 B. 5 C. 8 D. 9

10

s ¥ 7 T A A () §

Which of the following is monic polynomial

A S5x*+2x+1 B. x*—2x+1 C. 3x2+1

D. 2x3+3x+5

11

g @ o ot FAT &7 ¥

Which of the following is complete ordered field

A. R ) B. C C. a&b

D. None

2

;—ﬁ SHIEAT T FEAT Fhaedt &
The number of units in — is

A. ¢(n)

B. o(n+1)

C. p(n+3)
D. #(n+2)

13

WowmRAT T EsIRcF g HED

If G is a finite group and H is a subgroup of G then

O(H) t 0(G)
O(H) > 0(G)
O(H) | 0(G)
. None

SRR

14

e ag § ¥ T W TP
Which of the following group is cyclic?
A. Zi; XZy
B. Zio X Zgs
C. ZyXZysXZg
D. Zyy X Zy X Zgs




15 1 4 5
fA={0 2 6| thend is
0 0 3
A. wﬁﬁr Symmetric B. @RI Hermition
_ C. STUITelIgaael Diagonalizable D. M@ﬁﬂ' Skew symmetric
16 | afy g39w 2015 &1 fAeuide AfRTFw A ar frende ANFT A #7 SRBaw
T M
If A is nilpotent matrix of index 2015, then index of nilpotent matrix A'1! s
: A. 19 B. 18 C. 20 ‘ D. 21
17 1 1 -1
fA={1 2 3 ]andif A* + aA? + bA + cI = 0 then a,b,c respectively
6 1 0 .
A -11,-2,12 B. 11, 3,12 C. 3,57 D. None
18 | aafe o T Py(R) 3R 38F 39 S = (1,1 +x2,x2, 5} W AR Y, a
MR AT AT T T R
Consider the inner product space P;(R) and its Subset S = {1,1 + x?%,x2,5} then
which of the following is true
A Scstt
B. dimSt=3
C. A&B
D. None
19 1942 s = {a+ib, c+id} 3T FIHW C MR R ¥ AT & YR ¥ 397
Theset S = {a + ib,c + id} is a basis for the vector space C over R if
A.ad—bc=0 B.ad +bc=0
Cad+bc+0 D. ad —bc#0
20

(1+e§)dx+e;(1—§-)dy=0$rﬁw% ?

The solution of (1 + ey) dx + ey (1 - i) dy=0

A. x+ye§=C
B. y+xe§=C
C. xy+e§c7=C
D. x2+yze§=C




21

smz X
—_——dx
smz X+ cosz X

A. 0 B. 1 C. % D.

SR

22

I r FEEeC @ a9 Tehel WATH FIT 7
What is the singular solution of y%(1 + y?) = r? when r is constant?

oOnNw>

23

acosf,y=bsind F|T = gﬁ(xdy ydx) =
For the ellipse x =acosf,y = bsinf the value of . gﬁc(xdy —ydx) =

2mab
2a2b2

wab

4 m2a?b?

oOnNnw>

24

fA=ti—3j+2tk, B=i—2j+2k, C=3i+tj—k then ['[ABC]dt=

A -1 B.2 C.0 D.-2

25

A=RRT iFal & ¥ FiT @ asT QFS' yz +42x + 3xy = 0 & fAT IeUEHF &7

Whlch one of the following lines are generators to the Cone yz + 4zx + 3xy 0?

A x=y=z
B. x=-y=z
C x=2y=-z
D. x=y=-2z
26 | EgreEer S AW x =0,y =0,z=0 I 2x+6y—32+9 =08, 38
affea aiteT & F1 ST F41 e

The equation of the sphere inscribed in the tetrahedron whose facesare x = 0,y =
0,z=0 and 2x+6y—3z+9=0is

: x2+y2+zz+x—y—z—-;-=0

: x2+y2+zz—x—y—z—%=0

A
B
C. x2+y2+zz+x+y—z+%=0
D

xR+ y 42t xty+z+z=0

27

Wx—3y+z=03ﬁTQi§x2—5y2+zz=0$WWﬁW3ﬁ'$'




& &1 For F]AT

The angle between the lines of intersection of the planex — 3y +z =0 and the
cone x> —5y?+z2=0is

A. 6 = cos™! (3;’-) B.O = cos™?! G)

C.0 =cos™?! G) D.8 = cos™?! (%)




STATISTICS- SET A

28

Ife P(B/A)=P(B) 3iX P(A)20, P(B)z0,
If P(B/A)=P(B) and P(A)=0, P(B)#0, then

A) P(A/B)=P(A) B) P(A/B)=P(A).P(B)
C) P(A/B)=P(A)/P(B) ___ D) P(A/B)=P(B)

29

wmsmmma_aﬂeﬁ#maﬁm%%lzmﬁmaﬁr

THTGAT FT &7
A coin is tossed 5 times, probability of head is %. The probability exactly 2 heads is

A)5/16 B)1/16 C)2/3 D)1/3

30

foui a 3 b & WT ax+b 1 3T ew FA R |

For constants a and b, the expected value of aX+b is

A. E(aX+b)=Ax B. E(aX+b)=b
C. E(aX+b)=aE(X)+b D. E(aX+b)=aX+E(b)

31

iy x, &1 AET 4 3R X, FT AT -2 § IR X 3 X, FE@ET FRRPAR &

al E(2 Xy + X, -5) &T AT FAT FIM?
If X; has the mean 4 and X, has the mean -2 and Xjand X, are independent random
variables, then E(2 X1 + X5 -5) is '

A)1 B)-2 )3 D)4

32

R Raor &1 Arey 3w BaRor (ARTHA) b(x: n, p) FT: 434K 4/3 81 2
AEAd Pt #Y womaar F4T 2

The mean and Variance of Binomial distribution b(x:n,p) are 4 and 4/3 respectively.
What is the probability of getting 2 successes?

A) 20 B) 20/423 C) 20/243 D) 1/243

33

AFRICHS &aTe BT nb(x;r,p), r=1 F AT FT g1 S1am 82

Negative binomial distribution, nb(x;r,p) for r=1 reduces to:

A. gfa9g a1 Binomial distribution
B. §WeT BeROT Poisson distribution

C. EBYLSIA fAaRYT Hypergeometric distribution
D. SR BaOT Geometric distribution

34

WA g% & AT Q.0 M.D., T S.DFT He[UIeT T §?
For a normal curve, the Q.D., M.D., and S.D., are in the ratio

A) 5:6:7 B) 10:12:15 C) 2:3:4 D) None of the above



35

e ReRor 1 v g TSl ared Renor & ey dlerar Reaor
Fgelrd g |

A family of parametric distribution in which mean is equal to variance is:

A) m f@aor  Binomial distribution
B) AT BAROT  Gamma distribution

C) AT f@GROT  Normal distribution
D) W§HeT f@ROT  Poisson Distribution

36

I A7 F AT (X,Y) FA TAF HTelFT #1100 ¥ Renfora B s @t x W
Y FT SfATHT 0TF FAT grM?

If each observation in the set of Values(X,Y) is divided by 100, the regression coefficient
of Yon Xis: .

A. 100 & &€ SITUIT Increased by 100

B. 100 & ©€ HATTIT Decreased by 100
C. 1/100 th of Byx

D. 3URIFd $E &l None of the above

37 | gf vaw TF AE WA @Y g, dY(1/2) X HF 9T & Y TF AT [
(aRwe) & &
If X is a standard normal variate, then (1/2) X*is a gamma variate with parameters:
A)1,1/2 B)1/2,1 C) 1/2,1/2 D)1,1
38 | g wARMEd °T X FHT ATEY 3 IR AT [uersr 5 & a X v=2X-5 &1 [F=Ror
T gNI?
If a random variable x has mean 3 and standard deviation 5, then, the variance of the
variable Y=2X-5is,
A) 25 B) 45 C) 100 D)50
39 | gf Byy>1, AY Byy AT EWT:
If Byx>1, then Bxy is:
A. 1® & Lessthanl  B. 1 3 Greaterthan1
C. 1% W Equaltol D. YT & T Equalto 0
40

Iy p=1¢ a ufaeser $r a @it F T For F4r Aeme

If p=1, the angle between the two lines of regression is:

A. YT Zero degree B.sTed Ninety degree
C. IS Sixty degree D.T Thirty degree

9
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Ify v FMRd W @ARTI) X FT AT TRAUT (1/3+2/3e)g o xFIT § ?

If the moment generating function of a random variable X is (1/3+2/3¢€"), then X is a:

A) s&felt B9T Bernoulli variate

B) qrEreT BEX Poisson variate

) @9 =T Binomial Variate

D) dAPRIcHSD aﬁm Negative binomial variate

42

qgica FifeTd &7 ¥ FH § IR 3T Fad 3R

A sufficient statistics is minimal if and only if it is a

A TETH HIRAR F HIFA F geAad qded FIHT Minimum
sufficient statistics in a sequence of sufficient statistics

'B) & E@T qaica HIfRIT FHT TH HFAT A function of every other’
sufficient statistics

Q) ﬂ;ﬂﬂaﬁ?{\ F FTFATRFATIAT HT THBFAA A function of UMVU estimators
D) &3t 3T All the above

43

qieaaT & v UEEs AT W B AW F e S @

Factorization theorem for sufficiency is known as

A) Td-solehdel YAT Rao-Blackwell theorem

B) AT TG YAI Crammer_Rao theorem

C) YA _Nf¥T AT Chapman_Robins theorem
D) FR-adT AT Fisher-Neyman theorem

44 |

 grefear &1 FaT e goEer g ?

Level of significance is the probability of:

A) Typelerror

B) Typellerror

C) Not committing error
D) Any of the above

45

FE T UFH oG AT & WA B W R war 7 2

Whether a test is one-sided or two sided depends on:

A) d%feas gR&Feqsr Alternate hypothesis
B) WHAJI qR@&eIsT Composite hypothesis
C) T YRFeT=T Null Hypothesis

D) I IRFEUAT Simple hypothesis

10
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46

BeFiFasT Wges & & a0 (X-Mo) T F& R Far1 &2

Wilcoxon'’s signed rank test considers the differences (Xi-Mo) by way of:

A) Had TS @dRT Signs only

B) el AT §ART Magnitudes only

C) |rseT 3 &AE G@dRT Signs and magnitudes both
D) 3RFT H & HI$ AEN None of these

47

Bl e Fr FfRaar A ST F@ F e sugFd adewor st § e

To test the randomness of a sample, the appropriate test is:

A) T qdlaToT  Run test

B) WTSSTYIETOT Sign Test

C) FBIer gdiator Median Test
D) 9T 9{laTuT Page’s test

48

B AT TAET & 9™ AT FT T A HiFaT ¢

A set of feasible solution in linear programming problem is

A) A-3eder ASNon-convex set

B) 3cdel WeConvex set

C) 3rgFag FeDisconnected set

D) 3RFd H A FIE AE None of these

49

A: LP.P. HT 8 UHTYUTA SSCad AT &

B: L.P.P. FT g SSCAH WHTHUTT HHATUA ¢

A: Every solution of L.P.P. is optimal solution
B: Every optimal solution of L.P.P is solution

A) A 3B AT WE A and B both true
B) &ael AHE Aistrue only

C) had BHE Bis true only

D) &t A 3R BIre@ Both A and B false

11




50

T FHAIRA sl BoATgel A §

A randomized block design has

A) A RE W FaffaoT Two way classification
B) Ush g ¥ FeffdIoTONe way classification
C) T e T FeEfHEIOThree way classification
D) FIE FIHTHIOIAZT No classification

51

Bl wver @ el FEem a9 R @l @ I« BisH F AR WU FA F FA

The information from an experiment stabilizes when error degrees of freedom is at
least

A)6
B)8
C) 10
D) 12

52

1 § Flaar Fya qurE goiar F e @@ 7@

Which of the following statements is not true about factor rotation?

A I diFad T ¥ HBF Il urE Yoot arod w0 F e 0
IO W AE F IO aF W F ARROLTE o ARTE F

E{\Ui?l' F1 3faA T %I The ultimate effect of rotating the factor

matrix is to redistribute the variance from earlier factors to later ones to
“achieve a simpler, theoretically more meaningful factor pattern

B) EfYid IUTH WATHNT W W IR § B ot @ ore v v S

YAF Ieadl UE FA W F @Aw, {e T §

Rotated factor solutions are based on how much variance factors account for,

where each subsequent factor account for less variance

C) 3ifeaa ey VTeUA: 78T FT 90 U F HIUT W AT =TT T@T gl

Oblique factor rotation: axes are not maintained at 90 degrees

D) situfaerer haex Ve 3787 FY 90 3(Y F FIT W FATC I@T ¢l

Orthogonal Factor Rotation: axes are maintained at 90 degrees

12
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53

e agieTe ARATOT FT wT A W R A §

The selection of appropriate multivariate analysis depends on

A) B TX UF Tao Beawor F it & ® # AT S1ar § How many
variables are treated as dependent in a single analysis

B) H& X 3l Taaw St It Aqe BT ST § How variables,

both dependent and independent are measured

C) FT T & HIT FHAI: f@afa & Whether the values of variables are
normally distributed

D) A3l BAandB

54

AHAT e (k) w1 uRon, 1 3 k& @7 AT ST § v dE©; F oI
T, 3R I3IF A F TAF ("ded AT F, W R F gfaeaa &
e =T §?

Determining the sample interval (represented by k), randomly selecting a number

between 1 and k, and including each k™ element in your sample are the steps for which
form of sampling?

A) W Hafed AHAT Simple random sampling
B) F-l'fﬁ:_cl' AR AT Stratified random sampling

Q) mﬁm—ra‘n@ Systematic sampling

D) FeESY dAHAT Clﬁstersampling

13




55
The bootstrap program is stored in
AF Cache B. IH ROM
C.3TRUTH RAM D. el $SROTT Tertiary storage
56

AT 7 @ ol ¥ tF TdF A 99 W F ToANRH 2

Which one of the following is the deadlock avoidance algorithm?

A. dRTTemeH Banker’s algorithm

B. ToldeX UeIMMNRTH Elevator algorithm

C. U338 TS TEMRTH  Round-iron algorithm
D. el TeMNTH Karn’s algorithm

57

e fRavsl & o @ i @ PR §

System Analysts have which of these responsibilities.

A. 3TERIFAT F AT HY QE?H?I' Identify sources of requirement
B. WG & 32T #H 30 INATAT & ANIEHT H FASAT

Understanding how the project will contribute in the organization
objectives

c. sRoa aFedaR A AaeaFarst 1 Rravor sk gagE
Analyzing and understanding requirements of intended software
D. 3 3feaf@a @Y All mentioned above

58

WA Y kT RAwTgoree Bad ganT B Jrar §?

Process synchronization of programs is done by

A. 3T3TYC oI9S  Output Input B.$eT4C Input
C. 3T9YfET ATEHA Operating system D.AAY  Memory

59

St e B 7§ e9R WA T F 99 g WA gel § TS A § 0F

Hafea®w adisr 1 82

The best hidden surface removal methods used for complex scenes with more than a

few thousand surfaces is/are

A. TgE Wit B Depth sorting method
B. 3fteredt A& Octree method

C. Tha ATST TEMREH Scan line algorithm
D.T C3HX D BothCandD

14
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60

TF YFe et PrRE fheet W

A packet filter firewall filters at the

A. 3TTAGsT Yd Application layer  B.3TeT & 99 Data link layer

c.ofAd® 9 Physical layer D. REgeT YT Transport layer
61 | Aeghdr sifaw a1 afke caavar §
Physical or logical arrangement of network is
AT Topology B. sfedhdar Networking
C. TR Routing D.#1E & None
62 | & yPR A e AR
Which types of memory is volatile?
A.gTS$ 3139 Hard Drive B.3RUTH RAM
CIH ROM D.%2 Cache
63 | FiFeadT B Sfad a% & Ugal FeA i a1 2
Which is the first step in the software development life cycle?
A. BSITSeT Design
B.BRAYUT Analysis -
C. 31q8Y 9gdld Opportunity Identification
D. SEATdSAIOT Documentation -
64 | FiFeAIT AP T Yoy« e w1 it &2
The Management of software development is dependent upon?
A. 391G Product B.Y#HAT Process
C.Y3r People D.3WFa §HY All of above
65 | safAdT waraver # afAer §

Geometric transformation include

A. THRIIT Scaling B. TS Rotation
C. IR translation D.3 |Y All of these

15
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fArRd # ¥ si7 @1 Falrua Aa F afila Far

Which of the following refers to the associative memory?

A. 3T RS T T 39T Far smar % The data are accessed
sequentially

- B. 3T FT TaT 3UAHAIH GERT GaNT BT SAT@T & The address of the
data is supplied by the users _
C. 321 U U & T & 39ATer Bvam Srar %‘ The data is used as an

address

D. 32T &I 9dT Iﬁ"ﬁ'ﬂ:\ QART 3cYoel G %‘ The address of the data is
generated by the CPU

67

ufterdereT o @Y B oy B o @

Application layer is implemented in

A. 3T YOTTST End system B. $UIAC Ethernet
C. TANTEHT NIC D. 3RFd # ¥ HI$ AT None of the above

68

g @ AR w9 ¥ 9 F AR TE@ W gIr ded F Qe 5w 7w
FT 3R FIA H &TAAT FY FAT FgT AT ©

The ability to temporarily halt the CPU and use this time to send information on buses
iscalled :

A fBEH & arem sreer System interrupt

B. 3{TeT T AFCRIT Vectoring the interrupt
C3RRFE AANY TFAH  Direct memory access
D. T NI  Cycle stealing

69

TS BI5d 9949 & [e

To create a file

A. TERFT F a5 F5a & AT v WRSE FT  Make an entry for new

file in directory

B. BI3eT fAFCH & T rafed #T  Allocate the space in file system
c.A3llT BT  BothAandB
D.3RFT H & F$ MY 1§l None of the mentioned

16
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30 §2IT I & 91 off BT W v i Y RO 9d@F 1 FAT FgT AT

¥

Continuous glow of a beam on the screen even after it is removed is called as

A. T&dl Persistence B.gfadleell Fluorescence
C.Fm Phosphorescence D.d¥ & Incandescence

71

TF WA F I WA A QN T dF F GAT P FAT Fgl AT ¢

The time from submission of a process to the time of completion is termed as

A.%Ig? Throughput B. T{3NI3S HAT Turnaround time
C. AT AT Response time D. Illall FHA  Waiting time.

72

H HFTH AET F 10 TRAAT ¥ FA F F AT 907 A A a

IEYH AT FT FAT gl T &
The time required for a pulse to decrease from 10 percent of its maximum value is
called

A. YOR @1 8 Propagation delay

B. B. & "HHAYA Decay time

C.H’Eﬂﬁ T AROT 3l Binary level transition period
D.IgH HHAT Rise time

73

Ifg & AU T ) AT A g § o g =1 §:

If two events occur at the same time, then the events are

A. H’Jﬁ?ﬁ' Concurrent B.SATeT ARA@AF Non-monotonic

C. AxaefAs Monotonic D.-ﬁ!’- lﬂl'cl?ﬁ monotonic Non-concurrent

74

WO & 9gd ded T AAN TS FIAT FgalaT &

The memory address of the first element of an array is known as

A BTSSR U‘Qﬂ' Foundation address B. ¥ t’?ﬂ' Floor address
C.94H E?F First address D.9® ‘Tgﬂ Base address

75

3e1 vfeweere A (S5ew) Bad garr Bemse B T o
Data Encryption Standard (DES) was designed by

A. QIS Apple B.ATSHNIFE Microsoft
C. TSATH 1BM D. H$ 8ft 3@ €T None of the mentioned

17
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v RERT T Y 3R etk B o e €

A dotted line can be displayed by generating

A agd oo 3o o wH Ry gor & SXET A1 3M®F & Very long dashes

with spacing equal to or greater than dash size

B. Wgd B 3o fwe gt 3w & ST & Very short dashes with

spacing equal to dash size

C. @gd B S fwd gft 3u & W 3R 3#@\F & Very short dashes

with spacing equal to and greater than dash size
D. SI€ Dots

77

@rWORﬂEa;mﬁm#m#mﬁrﬁaTmNANDﬂa
e

The minimum number of two input NAND gates used to perform the functlon of two
input OR gate?

A. 4 Four B. 2 Two C. 3Three D.10ne
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Which of the following is not a process metric?

A. Q&TdT Efficiency  B. HIAETHAT Functionality
C. IuTacdT Quality D. 3c9Igehdl Productivity
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In which of the following, a separate schema is created consisting of that attrlbute and
the primary key of the entity set

A. FE-Q-HE HaY e A many-to-many relationship set

B. T UAA & A deg AT A multivalued attribute of an entity set
C.UH-U-F TG AC A one-to-many relationship set

D. T 3R &t =t Both A and B
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gl ST §
The highest frequency at which digital data can be applied to gate is called

A. ATRfET afa Operating speed

B. ST WHA Charging time

C. W’ﬂ FAX dAsieeA #T 3@  Binary level transaction period
D. WHROT Ifd  Propagation speed
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